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AN &8Iz
MY ANBSAE P
el FHBSAE Oy 1S CERED
2 S 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S22 W STEY U= 3,000 3,000 0
201 gBt24d| 3,000 3,000 0
01 AP 22l H| 3,000 3,000 0
ONR 4 ZANLDS(LEE, 52, &
OHOH, DA =) 3,000
MAEZHNNN BESAE X (22H|) 196,557 192,795 3,762
J| 137,590
Al 58,967
307 2I2t0| & 196,557 192,795 3,762
J| 137,590
Al 58,967
10 AISIEXAIEEHE2IHIEX 196,557 192,795 3,762
OXHZHIoHA ESAIE 29| 196,557
J| 137,590
Al 58,967
HAEZAEINN ESAE 2GR (H ==X MAH|) 16,876 8,224 8,652
J| 16,876
301 LBt A= 16,876 8,224 8,652
J| 16,876
01 Al E & X 462 16,876 8,224 8,652
Odlzx=2 X MAHH & EAXNEXNIS 16,876
J| 16,876
SHAZSEMIol A 2= H|, 2t8dl K& 2,000 2,000 0
J| 1,400
Al 600
307 QI2t0| & 2,000 2,000 0
J| 1,400
Al 600
11T A EXAIEEX 2,000 2,000 0
OLd=ZHATHA 222t | 2,000
J| 1,400
Al 600
SHAEZHMNAN NS =ETZ ) 14,950 14,950 0
Dl 10,465
Al 4,485
307 212t0| & 14,950 14,950 0
J| 10,465
Al 4,485
11 A EXAIEEX 14,950 14,950 0
OdZHIoiA X2z 14,950
J| 10,465
Al 4,485
SOHOHIIoHAF RIRAIE & MESA 29 517,300 493,810 23,490
J| 362,110




2A: 41
M FHBEAE P
Chelt FHBSAE JlY S CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al 155,190
307 2iz2to| A 517,300 493,810 23,490
J| 362,110
Al 155,190
10 MM SAANEEHESIGHEX 517,300 493,810 23,490
OXSOHOHIIGH X XIRAlE 2HH| 517,300
J| 362,110
Al 155,190
SOHOHII ol Kb R AKX S 76,070 86,354 AN 10,284
J| 53,249
Al 22,821
307 QI2t0| ™ 76,070 86,354 A 10,284
J| 53,249
Al 22,821
11T A EXAIEEX 76,070 86,354 AN 10,284
OXSONOH I oH Kb =X & 76,070
J| 53,249
Al 22,821
HAZATNN NBAL 2XSA 99,455 99,639 A 184
Al 99,455
307 2Iz2t0| & 99,455 99,639 A 184
Al 99,455
10 M SXNAEEHESIGHEX 99,455 99,639 AN 184
OWE=ZTIol A NAAIE XS 99,455
Al 99,455
MAZSH(HA) 133,889 124,047 9,842
= 120,500
Al 13,389
301 LEtE A= 133,889 124,047 9,842
= 120,500
Al 13,389
01 Al B & A 462 133,889 124,047 9,842
OANELE=S A MASA 133,889
= 120,500
Al 13,389
Ols - HEUAEXAAN 2H(XE) 7,240 7,240 0
= 3,620
Al 3,620
201 et 9| 7,240 7,240 0
= 3,620
Al 3,620
01 AR 22l ] 7,240 7,240 0
Ol - HHEOHE XY A 2 (XIH) 7,240
= 3,620
Al 3,620




M 08I ED
MY ANBSAE P
el FHBSAE Oy 1S CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Olsotd X & HZE X 2,464 0 2,464
= 1,232
Al 1,232
201 gBt2A | 2,464 0 2,464
= 1,232
Al 1,232
01 AP 22| H| 2,464 0 2,464
OOsSHEAET HZE X& 2,464
= 1,232
Al 1,232
ARSI A =M 20,980 29,100 N8,120
HAEERSEZA =M 20,980 29,100 N8,120
201 LBt 7,980 9,100 AN 1,120
01 AP 22| H| 7,980 9,100 N 1,120
OWHERBIT A AIHE I A2t 3,000
OWHEEZTIEA FUNEHEX 22H 2,000
OWHERBIZA ESHd3=8 & S22 M & 2,000
OWAMERSIEA ZEEYH 29
70,000& x14H 980
405 XHAHFEIEHI 13,000 0 13,000
01 XA 2B F S| 13,000 0 13,000
O &G OFAEBHH MUl A
13,000,000 =10 2 13,000
28 2 JI=E X 36,582,598 35,638,715 943,883
= 19,906,461
J| 419,343
Al 13,500,035
- 2,756,759
IIEEX &4 2,188,978 2,036,533 152,445
= 569,775
J| 419,343
Al 889,487
- 310,373
SAIA 2 265,000 282,000 A 17,000
Al 265,000
301 LBt A= 265,000 282,000 A 17,000
Al 265,000
01 Al E & A 462 265,000 282,000 A 17,000
OsdXE3 265,000
Al 265,000
EL=0I2 264,000 179,000 85,000
301 et A= 264,000 179,000 85,000
01 Al B & X 26 2 264,000 179,000 85,000




SN &R
_El'_ |

LRGP
@ E=EX A (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O&L=oIS 264,000
ol | PIE 100,000& »850H 85,000
- SMAH 200,000 x520H 104,000
el | PJE 500,000& x150H 75,000
EM2E KNS 78,250 0 78,250
Al 78,250
301 LAz 78,250 0 78,250
Al 78,250
01 Mel28E 6= 78,250 0 78,250
OsESE NA=S 78,250
Al 78,250
S4EY MY 29 900 900 0
201 LB-2dH| 900 900 0
01 At 2t 2l 900 900 0
O=sdtEe 822 MH 900
SHREE2IIE Ots2=H X3 384,123 384,123 0
J| 307,298
Al 76,825
301 L2 A S 384,123 384,123 0
J| 307,298
Al 76,825
01 MEIBEE 2053 384,123 384,123 0
Oo0ts&=tl, FI0ts2 =4l 359,023
J| 287,218
Al 71,805
Oz1nssY stE 3l 25,100
J| 20,080
Al 5,020
HFLAUESED otsLsH XA 8,356 8,356 0
J| 6,685
Al 1,671
301 L2 A= 8,356 8,356 0
J| 6,685
Al 1,671
01 MEIBZE 06z 8,356 8,356 0
OFAHERR Ots 2=l 6,906
J| 5,525
Al 1,381
OZZ A, NEXNFEN=E S 1,450
J| 1,160
Al 290
SIREIE s WS 163,400 272,000 A 108,600
Al 163,400
301 gt L= 163,400 272,000 A 108,600




SN &R
_El'_ |

HE: 2% o O15 N
Sel: JIE=T S (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 163,400
01 MEIBZE 06z 163,400 272,000 A 108,600
Onsstd W=l 18,600
Al 18,600
O&FAHE wsEH, =S8y ss25H| 144,800
Al 144,800
SRS g F=AHAXNE 7,270 7,000 270
Al 7,270
301 et d=s 7,270 7,000 270
Al 7,270
01 MEI2EZE+06l= 7,270 7,000 270
ORXINHE MHYSUH=FH XA (H SX=, &
253) 7,270
Al 7,270
otol=s X3 810,693 706,022 104,671
= 567,485
Al 243,208
307 gl2tol & 810,693 706,022 104,671
= 567,485
Al 243,208
11T M SRASEEX 810,693 706,022 104,671
O0t0lEE NEAY 810,693
= 567,485
Al 243,208
2208 2 U23HEXNJAEH 29 179,694 174,970 4,724
J| 89,847
Al 44,924
T 44,923
307 glz2+0l & 179,694 174,970 4,724
J| 89,847
Al 44,924
T 44,923
10 ALSISXAIEEE2GH EX 179,694 174,970 4,724
OHZIEXNAEH 29 179,694
J| 89,847
Al 44,924
- 44,923
E0us 24 22,162 22,162 0
J| 15,513
Al 6,649
301 YstE A 22,162 22,162 0
J| 15,513
Al 6,649
01 MI28E+06l= 22,162 22,162 0
Osgt=0lus 22 X 22,162
J| 15,513




2N

g 28 2 JE N&
Sel: JIE=T S (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| A 5.6%0
ROt RRu= 4,580 0 4,580
= 2,290
Al 2,290
307 gl2tol & 4,580 0 4,580
= 2,290
Al 2,290
11T M SXASE EX 4,580 0 4,580
OO0l 22u=s XA 4,580
= 2,290
Al 2,290
NEFFIZ S 550 0 550
201 L2l 550 0 550
01 At 22l 550 0 550
OJNEAsE |REJI2 A HAHIE 550
25 2 odeod XA 34,393,620 33,602, 182 791,438
= 19,336,686
Al 12,610,548
- 2,446,386
EF AtY =2 5,000 2,000 3,000
201 Let2d] 3,000 2,000 1,000
01 At 221l 3,000 2,000 1,000
OESA ot X+ M & 16,000 » 1258 2,000
Ooeold cCtv 222 M= 1,000
301 L2 A S 2,000 0 2,000
11IIEtEA S 2,000 0 2,000
O=s niA & 22 W= 2,000
EFWEA oA XA 4,502,244 3,724,137 778,107
= 2,688,018
Al 1,257,823
- 556,403
307 21201 A 4,502,244 3,724,137 778,107
= 2,688,018
Al 1,257,823
- 556,403
10 ALSISXAIEEER2IHEX 4,502,244 3,724,137 778,107
OEsuAR oA 4,502,244
= 2,688,018
Al 1,257,823
T 556,403
HElold SEXNA(ZMoF M2 Helold HEF2Il 1,936 2,400 N 464
)
= 1,162
Al 542




AN GEIEY
Ha: 2% 2 IIE N
Sel: 2% 2 OfR0IE X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
- 232
307 glz2tol & 1,936 2,400 A464
= 1,162
Al 542
T 232
10 ALl SXAIEEE 2 H EX 1,936 2,400 A 464
O0gold 29 X2 (Z0oL 82 ofglold Xt
Zd23dl) 1,936
= 1,162
Al 542
T 232
3238 Helold X& 475,000 350,000 125,000
= 285,000
Al 133,000
T 57,000
307 glz2tol & 475,000 350,000 125,000
= 285,000
Al 133,000
T 57,000
10 AL SXAIEEE 2 HEX 475,000 350,000 125,000
=38 oHgold XA 475,000
= 285,000
Al 133,000
- 57,000
ES?AE F&AE 1,540 1,400 140
201 Let2d] 1,540 1,400 140
01 At 22l 1,540 1,400 140
OE=%ads 3o A&+
70,000& 11 »23] 1,540
Helold 2N (Hold Wi >Hl) 54,917 48,860 6,057
= 32,950
Al 156,377
T 6,590
307 glz2+ol & 54,917 48,860 6,057
= 32,950
Al 156,377
T 6,590
10 ALSISXAIEEE2EHEX 54,917 48,860 6,057
O0gols 2SN (0T M THl) 54,917
= 32,950
Al 15,377
- 6,590
8 29 XIAAZY 6,666,667 6,763,467 96,800
= 5,000,000
Al 1,166,667
- 500,000




M 08I ED
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 6,666,667 6,763,467 A 96,800
= 5,000,000
Al 1,166,667
- 500,000
01 Al E & X 462 6,666,667 6,763,467 A 96,800
OJIEsds4+=XH 6,666,667
= 5,000,000
Al 1,166,667
5 500,000
el ol uwekdl X& 38,800 41,600 A 2,800
307 gizto| A 38,800 41,600 A 2,800
10 MM SAANEEESIGHEX 38,800 41,600 A 2,800
O0elolE ety XI& 38,800
SAH et K& 14,080 14,080 0
308 AMXISHMSOIA 14,080 14,080 0
08 I |20 HstE = 14,080 14,080 0
OSKXA ety X 14,080
geotErs X3 14,133,333 14,176,508 N43,175
= 10,600,000
Al 2,473,333
- 1,060,000
301 Bt A= 14,133,333 14,176,508 N43,175
= 10,600,000
Al 2,473,333
- 1,060,000
01 Al E & A 462 14,133,333 14,176,508 N43,175
O02H EvE € ¥ 14,133,333
= 10,600,000
Al 2,473,333
5 1,060,000
HZ0H0oF &lE B2 3,200 3,200 0
Al 2,816
- 384
301 et A= 3,200 3,200 0
Al 2,816
- 384
01 Al B & A 462 3,200 3,200 0
OHIEOMOF &l: B 3,200
Al 2,816
o 384
SN NS XN (RAI2SSHIHAH]) 785,886 1,005,680 A219,794
= 470,456
Al 221,028
- 94,402




M 08I ED
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 785,886 1,005,680 A219,794
= 470,456
Al 221,028
- 94,402
10 MM SAAEEHESIGHEX 785,886 1,005,680 A219,794
OBsNZx2 HRMH N (RAI2LEHINA
Hl) 785,886
= 470,456
Al 221,028
- 94,402
282 DLUHES 2dH| 7,662 8,244 A 582
= 3,831
Al 1,824
- 2,007
201 gEt24y| 7,662 8,244 A 582
= 3,831
Al 1,824
- 2,007
01 AP 22| H| 7,662 8,244 A 582
20 DLUHE Y 2HH| 7,662
= 3,831
Al 1,824
3 2,007
BEZ(ANUANEIEESIH) 103,620 46,548 57,072
= 51,810
Al 25,905
- 25,905
307 QI2t0| ™ 103,620 46,548 57,072
= 51,810
Al 25,905
- 25,905
10 MM SAANEEHESIHEX 103,620 46,548 57,072
OANZLXEE (AZ2HH) BESXL 103,620
= 51,810
Al 25,905
- 25,905
el old eyl X & 19,400 21,200 A 1,800
307 212t0| & 19,400 21,200 A 1,800
10 M SXNANEEHESIHEX 19,400 21,200 A 1,800
ONeold Wwekdl XI& 19,400
EE2WXN2 HRMA XN (XA 21 HH]) 338,935 282,720 56,215
= 203,459
Al 94,833
- 40,643
307 2iz2to| A 338,935 282,720 56,215
= 203,459




AN GEIEY
LRGP
Sel: 2% 2 OfR0IE X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 94,833
T 40,643
10 ALSISXAIEEE2EHEX 338,935 282,720 56,215
OBSnHA H22MH NA(EZ WA 2124H]) 338,935
=2 203,459
Al 94,833
- 40,643
oelold &8 A= X 24,000 0 24,000
307 21201 A 24,000 0 24,000
10 ALSISXAIEEE2GHEX 24,000 0 24,000
Oogold &ed sS4 MaEl 24,000
SI3~5MI0L el E Es= 5,990,000 5,960,000 30,000
Al 5,990,000
301 gt d= 5,990,000 5,960,000 30,000
Al 5,990,000
01 Ml2ZHE 6= 5,990,000 5,960,000 30,000
OS3~5M0F SFeltd B2 XA 5,990,000
Al 5,990,000
tagsz X 67,000 26,000 41,000
Al 67,000
301 LEtE A= 67,000 26,000 41,000
Al 67,000
01 MEI2ZE 405z 67,000 26,000 41,000
OFZR0XNANE0E HENASE AHAE=S
X 27,000
Al 27,000
OUXHIIE UEss 2E2RE3 XA 40,000
Al 40,000
FREXNAAHE 0 23l 9,000 9,000 0
Al 9,000
307 212+0| & 9,000 9,000 0
Al 9,000
10 ALSISXAIEEE2GHEX 9,000 9,000 0
OFRXNANSO0E N2 9,000
Al 9,000
ZUHEROIME0IE ESUA E222H 20,700 20,600 100
Al 20,700
307 ©12+OI & 20,700 20,600 100
Al 20,700
10 AL SXNAIEEE2EHEX 20,700 20,600 100
OHZMIRO0tHE0IE ESUA S22 20,700
Al 20,700
Helold d&dsts & S A 56,566 56,566 0




M 08I ED
LRGP
Sel: 2% 2 OfR0IE X (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al 56,566
307 QI2t0| ™ 56,566 56,566 0
Al 56,566
11 M SAAFEE X 56,566 56,566 0
O0eold s&sts U 23 AL 56,566
Al 56,566
228 Helold Xeld oAl X 39,600 0 39,600
Al 39,600
307 212t0| & 39,600 0 39,600
Al 39,600
10 Al SEXAIZHE2IHIEX 39,600 0 39,600
OZ23E80elold ZT2ld o] 39,600
Al 39,600
ERuAI HRJUL(BIIMes dAR2xH) 165,000 165,000 0
Al 165,000
307 212t0| & 165,000 165,000 0
Al 165,000
10 Al SXNAIEEE2IHIEX 165,000 165,000 0
OBSnNAEI MRAHL(EIIHLIs dARaH) 165,000
Al 165,000
BENXNI YL (2X2Y) 853,000 853,000 0
Al 853,000
307 QI2t0| ™ 853,000 853,000 0
Al 853,000
10 Al SEXAIEEE2IHIEX 853,000 853,000 0
OEBSnEd HRRAML(EXx=) 853,000
Al 853,000
OF2t{ el 0l & EcIAZS 2 A 1,050 1,332 N 282
Al 1,050
307 212t0| & 1,050 1,332 N 282
Al 1,050
10 Al SEXAIEEE2IHIBX 1,050 1,332 N 282
OO0f2t el 0| & ZclAZS 29 AL 1,050
Al 1,050
012, JIAOEO0lE EKUAI #2554+ 15,484 0 15,484
Al 15,484
307 212t0| & 15,484 0 15,484
Al 15,484
10 M SXNANEEHESIHEX 15,484 0 15,484
OolI2t, JIENe 0l BExgsWA )25+ 15,484
Al 15,484
OlsS&SEA =& 51,140 88,000 N 36,860




A OIS

g ofsEE Al =

ool ot el 2F CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ots del 2F 51,140 88,000 A 36,860
Ots&EA =4 At 39,760 76,620 36,860
201 Let24d] 28,760 25,620 3,140
01 At 22/l 23,760 25,620 A 1,860
Ogt+gH| 3,000
OOISESTA ZTSIAS| S8 5o &A=
=4 70,0003 x9H %23 1,260
OOts &AL Al 238 28 s A
5,000& »1,500% 7,500
O0lsdel 2228 S M= 3,000& +2,00004 6,000
O0ts & 78, SAL U4y otsdel ns &
MNE (200,000:& +100,000& ) 203! 6,000
02 =24l 5,000 0 5,000
OOSESECANFA XNLHLE2SE A3l
5,000,000& =13l 5,000
203 YR =& 1,000 1,000 0
03 Al Z=A Y 2= 1,000 1,000 0
O0sS=EXNYSR AIHZA HRE=AH| 1,000
307 gl2tol & 10,000 10,000 0
02 IZHE M AHE L 10,000 10,000 0
OFAE 0 2 ot gl 10,000
oelol - dadEos 24 & 2 11,380 11,380 0
201 Let24E] 9,330 10,380 A 1,050
01 At 22l 6,480 6,480 0
OAl & &= Pl 40,000& x62H 2,480
O8+% & ME S HMEUI 3,000
OMNSRES(LZEHE 8) #l 1,000
03 &AL Z I 2,850 3,900 A 1,050
OogtHal & =312 M=l 450
O0elol - 3Aad23 Otsde R (Z2Y)
2ALZ (200,000 +100,000% ) *83] 2,400
301 et d=s 2,050 1,000 1,050
09 SALAHIEA S 2,050 1,000 1,050
Ootsdel ZLHEH g5 XIH
20,0003 x25F «23| 1,000
ooglol - #AES &HOA AHl S
7,000& 50 32 1,050
HAHE Ol 23 8,744,960 7,563,729 1,181,231
= 1,485,918
J| 143,508
Al 6,910,924
- 204,610




AN GEIEY

M HAHES Ot BS
el XIHALE OFSO ATE S4 CER-ED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

NS Ate Ots2 ANME S4 2,685,223 2,711,941 N26,718
= 895,418
| 66,665
Al 1,518,530
- 204,610

AAots IHE KNI (YY) 68,400 57,600 10,800
| 47,880
Al 20,520

301 et a3 68,400 57,600 10,800
J| 47,880
Al 20,520

01 A3l EE H =56l = 68,400 57,600 10,800
oggots sds+4 X 68,400
| 47,880
Al 20,520

QA0tEs ItE N (Z0tsS =) 19,336 17,730 1,606
| 13,535
Al 5,801

301 LEtE A= 19,336 17,730 1,606
| 13,535
Al 5,801

01 MEIBZE 06z 19,336 17,730 1,606
OHMols & s=s+E K& 19,336
J| 13,535
Al 5,801

22 IIERAEOS delxlzg X 2,000 3,000 21,000
= 1,400
Al 600

301 L2 A Z 2,000 3,000 21,000
= 1,400
Al 600

01 MEIBEE X263 2,000 3,000 21,000
OgY - II¥E0s Aelxlg K& 2,000
2 1,400
Al 600

g gsts Otssa A& 659,000 658,865 135
Al 494,250
- 164,750

307 2Iztol ™ 659,000 658,865 135
Al 494,250
- 164,750

11T AISI S XA E = 659,000 658,865 135
OEY, &&= ots=2aX& 659,000
Al 494,250
- 164,750

E, S5Y ots=24NA 117,550 117,530 20




M HEIIED
B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 117,550
307 glz2tol & 117,550 117,530 20
Al 117,550
11 AISI S AAISEE = 117,550 117,530 20
OE ., 25Y ots=24 XA 117,550
Al 117,550
OtssSasY 980 980 0
201 L2l 980 980 0
01 At 22l I 980 980 0
ONS3AMAAS 3o &M
70,000 7Y %23 980
IHELAE Ot s K& 102,600 117,000 A 14,400
Al 102,600
301 L2 LS 102,600 117,000 A 14,400
Al 102,600
01 MEIBZE 05z 102,600 117,000 A 14,400
ONEAE =X 102,600
Al 102,600
AEAHINE I R/E AME0S HetsE2 A& 42,000 49,200 AT,200
Al 42,000
301 L2 AF 42,000 49,200 AT,200
Al 42,000
01 MEIBE X253 42,000 49,200 A7,200
OAEAUINY IHESE ALOS HASE2
A& 42,000
Al 42,000
A2EAHINFOSS AEXA 55,000 25,000 30,000
Al 55,000
301 L2 A F 55,000 25,000 30,000
Al 55,000
01 MEIBEE 253 55,000 25,000 30,000
OaxdAHIMEOSS NHEXA 55,000
Al 55,000
Ot = << XI& A 138,000 131,562 6,438
= 96,600
Al 41,400
301 L2 A3 138,000 131,562 6,438
= 96,600
Al 41,400
01 Al EE H =56l = 138,000 131,562 6,438
OOtsZLE XA AE XA 138,000
= 96,600
Al 41,400




SCEEpIE
D HSAAHE Of
© XA OF

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
el 0l=0l8 =XE2=H| 800 800 0
201 £B-2d| 800 800 0
01 At 22l 800 800 0
OONE0l=0le AL 800
NEotsdlEe 238 K& 853,236 877,752 N24,516
= 426,618
Al 426,618
307 g1+l & 853,236 877,752 AN24,516
= 426,618
Al 426,618
10 M SXNANEHE2IHE=S 853,236 877,752 AN24,516
OXgotsd e 298 XA 783,408
= 391,704
Al 391,704
OEg=2Y% X& 32,832
= 16,416
Al 16,416
OEx==8d & 36,996
= 18,498
Al 18,498
OIESdY XNgotsdH 29 X 15,600 23,400 AT,800
Al 15,600
307 21201 A 15,600 23,400 AT,800
Al 15,600
10 ALSISXAIEEE2EHEX 15,600 23,400 AT,800
OOUESEY XG0tsHEH 22l 15,600
Al 15,600
NGotsdEH SAHA MR IH&H 64,200 53,520 10,680
Al 52,680
- 11,520
307 gl2tol & 64,200 53,520 10,680
Al 52,680
- 11,520
10 M2 SXNANEHI2IHEX 64,200 53,520 10,680
OX<gotsdEH SALA ML 52,680
Al 52,680
OAEZ, dEEXA XL 11,520
OFS =S XA THA (Q121H]) 201,600 215,040 13,440
= 100,800
Al 100,800
101 124 dl 201,600 215,040 A 13,440
= 100,800
Al 100,800




2N

P IlE=n}

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET

04 JIZHHZ2XREES 201,600 215,040 A 13,440
OOts=XI A 2lA4H K& 201,600
= 100,800
Al 100,800

ANgotsdE IPTV 22 22| 21,546 20,840 706
Al 21,546

307 21201 A 21,546 20,840 706
Al 21,546

10 ALSISXAIEEE2GHEX 21,546 20,840 706
OIPTVE &Y X& 21,546
Al 21,546

AYEotsdH 8 Us JtE e sl 2,000 2,000 0

201 Let24d] 2,000 2,000 0

03 A2 S HI 2,000 2,000 0
OXY0otsdH Heg2Es S MU 2,000

22 =otag X2 4,000 3,000 1,000
Al 4,000

301 gt 4= 4,000 3,000 1,000
Al 4,000

01 MI2EZE+6l= 4,000 3,000 1,000
Ogg=dta XA 4,000
Al 4,000

AUAOtES IHE XA (LY==t 2R X&) 2,100 2,800 A700
J| 1,470
Al 630

301 L2 A S 2,100 2,800 A700
J| 1,470
Al 630

01 MEIBEE 053 2,100 2,800 A700
Ogd=edizt 2R XA 2,100
J| 1,470
Al 630

ANEotsdlH =2etelsts =2d N 7,500 7,500 0
Al 7,500

307 21201 A 7,500 7,500 0
Al 7,500

11T ALSI S XAEE = 7,500 7,500 0
OXY0otsdE 2etelsts =24l X& 7,500
Al 7,500

AA0tsdy dte 2EH X 4,890 4,890 0
Al 4,890

307 21201 A 4,890 4,890 0




AR GRS =

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 4,890
10 ALSISXAIEEE 22X 4,890 4,890 0
OXYotsdE dete 24 X& 4,890
Al 4,890
ANSOotsdE M X 2,925 2,685 240
Al 2,925
307 21201 A 2,925 2,685 240
Al 2,925
10 ALSISXAIEEE2IHEX 2,925 2,685 240
OXdotsdH M= X3 2,925
Al 2,925
NEotsdHA-_ = 560 0 560
201 £B-2dH| 560 0 560
01 At 22l 560 0 560
ONSOISHE RS 50 &g
70,0003 x8H +13] 560
QA0ts ItE X (LLHE) 5,400 14,447 A9,047
J| 3,780
Al 1,620
307 21201 A 5,400 14,447 A9,047
J| 3,780
Al 1,620
11T AL S XAEE = 5,400 14,447 A9,047
ogddlE & 5,400
J| 3,780
Al 1,620
NHEHAEE SeAtdl2el X3 294,000 300,000 26,000
= 270,000
- 24,000
101 14 Hl 112,660 108,760 3,900
= 112,660
04 JIZtHZ2XREES 112,660 108,760 3,900
OJIZtHZ2=2 X elAt| 112,660
= 112,660
201 Let2d] 146,340 138,240 8,100
= 122,340
T 24,000
01 At 22l 135,638 128,032 7,606
OEEAHRE T2 29 96,658
= 96,658
OssXd =28 22 24,000
OEEHAEE HH 2¢ 2,000
= 2,000
O=W22EH SAHl  7,0008 4«54+ 12 1,680




SN &R

B FHo)E O 25
S KNS Ols2e HANE =4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= T.680
OEHAEE A& 2EWFHl 300,000& 123 3,600
= 3,600
OCHAEHE2IRAAG A3 1,300
- 1,300
OEYAEIE EE=2 H& 6,400
= 6,400
02 33249l 7,702 7,208 494
ORoAd 24| 80,000& x12& 960
= 960
OERZ, 83 & 2222 4,742
= 4,742
OXgEs X2yl 1,500
= 1,500
OEHAEE HdEH W AIEKX 500
= 500
03 A2 H H 3,000 3,000 0
OSHYARE 8292 29 S
1,500,000& *x23] 3,000
= 3,000
202 044 7,200 7,320 N 120
= 7,200
01 2L Y| 7,200 7,320 N 120
OCHAEE HRNs &0 7,200
= 7,200
203 € R =&lY| 2,400 2,400 0
= 2,400
03 A=A R =AH| 2,400 2,400 0
OEYHAEE 223 S AI#MFEY| 2,400
= 2,400
301 LBt A= 15,400 19,330 A 3,930
= 15,400
09 HAIAHIBEAZ 500 0 500
OdgAIAHI B A= 250,000& *23| 500
= 500
11 JIEtE & =2 14,900 19,330 AN4,430
OUAMX JIZEA SEHA 24 5 000&*100H 500
= 500
O 2 AHI 1,200,000& *12& 14,400
= 14,400
307 212t0| & 6,500 21,950 AN 15,450
= 6,500
11T A SXAIE E X 6,500 21,950 AN 15,450
O=zx8)&ad ) 2 6,500
= 6,500




A OIS

B FHo)E O 25
Sl KISAIE OISO AWE K4 (29l & 2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

402 BI2FX=01 M 1,000 1,000 0
= 1,000

03 BI2HCH & AF & HI 1,000 1,000 0
OCYAEE SEFEAA 1,000
= 1,000

405 XHoHE S HI 2,500 1,000 1,500
= 2,500

01 AL ESHSHI 2,500 1,000 1,500
OMBEE HIE ¥ 2217 2,500
= 2,500

Ots=XAd 22X 6,059,737 4,851,788 1,207,949
= 590,500
J| 76,843
Al 5,392,394

MAS0H(0LS) 656,111 606, 340 49,771
= 590,500
Al 65,611

301 L2 A= 656,111 606, 340 49,771
= 590,500
Al 65,611

01 A3l EE H 06l = 656,111 606,340 49,771
O0tsSAlE HASN 656,111
= 590,500
Al 65,611

OtsAIE2ZH ¥ SALL oA 4,960,561 3,929,069 1,031,492
Al 4,960,561

307 glz2tol & 4,960,561 3,929,069 1,031,492
Al 4,960,561

10 M3 SXNAEHE 2SI 4,960,561 3,929,069 1,031,492
OO0tsSsXAIE 2g| 4,920,561
Al 4,920,561
OO0ts2ANESA 238 X& 40,000
Al 40,000

OtsAld AIHIAI& 135,482 124,687 10,795
Al 135,482

307 gl2tol & 135,482 124,687 10,795
Al 135,482

11 AMISIAIEE S 135,482 124,687 10,795
OAE0tE =0 &l 3,625
Al 3,625
OGOtAIE JI M HCH 32,373
Al 32,373
OAl4d0otEs wsSHl XI& 33,792
Al 33,792
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L ECEE
Ha: F o
Sl OS = XA

& 2gn (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

OAMHEOtS StAH ==& b 5,280
Al 5,280
OAHEOts 8= 45,936
Al 45,936
Osts=2 Xl 14,476
Al 14,476

E A0S NEEEHZ 85,000 125,000 A 40,000
Al 85,000

301 et A= 85,000 125,000 A 40,000
Al 85,000

01 M EEAE G2 85,000 125,000 A 40,000
OEA0ts ANEH=EZ 85,000
Al 85,000

RESOls OEE 249 65,637 46,718 18,919
Dl 26,255
Al 39,382

307 212t0| & 65,637 46,718 18,919
Dl 26,255
Al 39,382

10 M SXNANEEHESIHEX 65,637 46,718 18,919
OZ2SHMEIFE(OEE) 29X 65,637
Jl 26,255
Al 39,382

SSMEIE HAEESHH K& 6,876 4,774 2,102
Al 6,876

307 QI2t0| & 6,876 4,774 2,102
Al 6,876

10 AR SXAIEEE2IHIEX 6,876 4,774 2,102
SSMHEINEY HAA¥=HH XA 6,876
Al 6,876

SSMEIE SALN EXE 12,600 4,200 8,400
Al 12,600

307 QI2t01 & 12,600 4,200 8,400
Al 12,600

10 Al SEXAIEEE2IHIEX 12,600 4,200 8,400
OZ2SMEINAE SAA EX= X 12,600
Al 12,600

OtsSAlE otd2te| - &#FMAE K& 11,000 11,000 0
Al 11,000

307 212t0| & 11,000 11,000 0
Al 11,000

10 M SXNANEEHESIHEX 11,000 11,000 0
OOtsAlE ot  SHINEX K& 11,000
Al 11,000




AN GEIEY
M HAHES Ot BS
&2 OsSEXAE 2SN (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
StiOloliOlsa e 2<Edl, oAdl, At 126,470 0 126,470
J| 50,588
Al 75,882
307 gl2tol & 126,470 0 126,470
J| 50,588
Al 75,882
10 AL SXNAIEEE2EH EX 126,470 0 126,470
Ostiimloliots&EE 2 X 126,470
J| 50,588
Al 75,882
dad B85 9 4 106,650 131,670 A 25,020
= 1,350
J| 55,300
Al 33,450
T 16,550
dAadE =X 106,650 131,670 A 25,020
= 1,350
J| 55,300
Al 33,450
T 16,550
HdAUES 8,150 9,870 N1,720
201 Let24] 7,750 9,470 A1,720
01 At 2t 2l 7,750 9,470 N1,720
OFAEE ¢=2 U= 1,750
O r8sEM9IAs, soMML
70,000& x 10 *13] 700
O "TNEANSHLEHSEXNMHASSEAS!, &
ojEAM g 70,000 x 10 »23] 1,400
O rstD=i(Mx e lsl, 5olaasY
70,0003 x 159 x23| 2,100
OstW=ZE g 2= MA 1,800
-89, 0O, E228 S
900& =2, 0004 1,800
301 et d = 400 400 0
1MIIEESS 400 400 0
OFAEESHRIE MNEAS XS
50,0003 »82A 400
FAdRoEd Z2AE A& 2,700 2,400 300
= 1,350
Al 1,350
307 2201 A 2,700 2,400 300
= 1,350
Al 1,350
02 It AHE L 2,700 2,400 300
OFAERNSTIZAE 2SXE 2,700
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SN 8IS
XM HAH
e R PNE

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
= 1,350
Al 1,350
HAadE 28 29 14,000 14,000 0
Al 7,000
- 7,000
307 2Iz2t0| A 14,000 14,000 0
Al 7,000
- 7,000
10 MM SXANEEHESIGHEX 11,200 11,200 0]
OFAEZRE 2 11,200
Al 5,600
5 5,600
11T A EXAIEEX 2,800 2,800 0
OFAEZEE T2 )2 A H| 2,800
Al 1,400
- 1,400
MEXY ALNNAES F2d SEX 8,000 6,000 2,000
J| 5,600
Al 2,400
301 et A= 7,824 5,520 2,304
J| 5,600
Al 2,224
01 Al E& A %52 7,824 5,520 2,304
OMEXE, ALXNAS BLESEI S 7,824
J| 5,600
Al 2,224
307 212+0| & 176 480 A 304
Al 176
11T A EXAIEEX 176 480 A 304
OME T HLXNIAS FALAESEXE At =
2l 176
Al 176
S % HAE XA 71,000 96,600 A 25,600
J| 49,700
Al 21,300
307 2izto| A 71,000 96,600 A 25,600
J| 49,700
Al 21,300
05 QIZtR E S 71,000 96,600 A 25,600
Ost g HA4E XA 71,000
J| 49,700
Al 21,300
HAUEHRAFS 29X 2,800 2,800 0
Al 1,400
5 1,400
307 QI2t0| ™ 2,800 2,800 0
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AN GEIEY
M HAUS

H . ool () - NIRAY - B il
Al 1,400
- 1,400
05 RIZHRI &3 2,800 2,800
OHAEHOS o 2,800
Al 1,400
- 1,400
HYR2IZH (HAIED) 83,548 83,548
JlEZl 83,548 83,548
JlE2&l 83,548 83,548
201 LBt 15,508 15,508
01 At 22|l 15,508 15,508
O=SAMEXN L 20,000 708t A 1,400
OEHT7Y 3,050
== 115,000 »4CH 53] 2,300
-2 (2H) 150, 000& *1CH =53] 750
ORA2III2+8H| 10,000& 19 128 2,280
OAZAZ 2R S A
7,000 *5. 54119« 12& 8,778
202 oddl 63,840 63,840
01 = LH o4 1l 63,840 63,840
Ol 280,000& x19F »12& 63,840
203 R EFH| 4,200 4,200
04 EN2YALETY 4,200 4,200
ORA2Y ZRF2H| 350,000& »12& 4,200
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